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And I do not know whether he maintains food from waste is prohibited

OVERVIEW

"7 21 related that °2°2 27 placed a basket of fruit before "oX 1 "»X " on naw, and
7 27 was not certain whether the reason for placing the basket before them was
because he maintains that selecting n?105 Tinn %2R is MOR (or whether it was to
show his generosity).! Our m»o1n explains why °»>7 27 was under the impression
that it may have been because of the 77772 MO°X.
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The explanation of s“»°7 27 question (whether °2°2 27 may maintain Wn 92X
ToR n709) is; ‘I do not know why he did not select the fruits from the n109

initially before he brought it before >ox 2 »x 27 -
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However one cannot explain that there may be reason to assume that °2°2 27
maintains N?109 1NN 9O is 708, because he did not select the fruits from the

N0, at the time that he placed it before them -
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For if this is the reason how can "7 217 state, ‘I am uncertain whether it is

because °2°2 27 maintains n®19D TIn% 92X is MMON’; that is why he was not 7 m2 when he

placed it before them. This cannot be any indication -
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For everyone agrees that it is permitted to select n9105 71072 921X to eat it INONRY.

SUMMARY
The cause of doubt by 7 27 was the fact that °2°2 17 did not select the fruit before

!'See XTw1 1"7 "W that >2°2 21 placed the fruits before them together with the leaves and did not separate them.
2 The word w1 d indicates that Mo is rejecting another interpretation. Here mooin is rejecting the w197 PR
mentioned shortly. See footnote # 4.
3 The fact they he did not select the fruits initially, may indicate that he maintains N2105 172 92 is MOR, if it is not
an9xY, as it would be in this case if he would have been 72 the fruits before he placed it before them.
4 This may be *"w1 nw who writes 27211 27011 M ALY XX TR TAR 22 %397 DNDY PHYT 70D 22187 M29 737 X9
1R 921X WIR1 AT MW,
5 If 'n>7 21 was questioning why he was not 1M when he placed it before them, he should have surmised that the
only reason for this conduct was for 719° Pv, but not out of concern of 77°72 MR since it was InNoX?, so TN SR
N9 is surely . Rather *»°7 27 wondered why °2°2 271 was not 12 before he brought it, for in that case since it is
not IN?XY; it could be because °2°2 11 maintains that n9109 T 223X is MoK if it is not ANPRY. See ‘Thinking it over’.
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he served it (but not since he did not select the fruit when he served it).

THINKING IT OVER

We know for a fact that *2°2 27 was not 9112 when he served them, because of ¥
19°.% Therefore what was s"»°7 27 doubt. We know he wanted to serve them 7va
119°; therefore he was also not 712 before either, for then he could not serve them
790 PYa?

6 See footnote # 5.
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